
Mathematik 9 Abels



Kopfübung



Wie komme ich mit der
Quadratischen Ergänzung

von der AF zur SPF?



𝒇 𝒙 = 𝟐𝒙𝟐 − 𝟒𝒙 − 𝟏

𝒇 𝒙 = 𝟐 𝒙 − 𝟏 𝟐 − 𝟑

𝑓 𝑥 = 2(𝑥2 − 2𝑥 + 1) − 3

𝑓 𝑥 = 2𝑥2 − 4𝑥 + 2 − 3

Binomische Formel

Klammer ausmultiplizieren

zusammenfassen

?



!Quadratische Ergänzung

1.  𝑎 ausklammern

2.  + 𝑏

2

2
−

𝑏

2

2
 ergänzen

3.  Binomische Formel rückwärts

4.  Zusammenfassen

5.  Klammer ausmultiplzieren

𝒇 𝒙 = 𝟎, 𝟓𝒙𝟐 − 𝟑𝒙 + 𝟓

𝒇 𝒙 = 𝟎, 𝟓(𝒙𝟐 − 𝟔𝒙 + 𝟏𝟎)

𝒇 𝒙 = 𝟎, 𝟓(𝒙𝟐 − 𝟔𝒙 + 𝟗 − 𝟗 + 𝟏𝟎)

𝒇 𝒙 = 𝟎, 𝟓( 𝒙 − 𝟑 𝟐 − 𝟗 + 𝟏𝟎)

𝒇 𝒙 = 𝟎, 𝟓( 𝒙 − 𝟑 𝟐 + 𝟏)

𝒇 𝒙 = 𝟎, 𝟓 𝒙 − 𝟑 𝟐 + 𝟎, 𝟓
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: 𝟎, 𝟓 : 𝟎, 𝟓
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Hausaufgabe

Fun108
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